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1 A.heap-size < A.length;
l 2 for i = | A.length/2| downto 1 do

3 | Max-Heapify(A,i);
4 end
Algorithm 10: Build-Max-Heap(A)
2z 3 i} h/3

1 =24
2 r=21+1; 60"

3 if | < A.heap-size and A[l] > A[i] then

4 | largest =, @(,\

5 end

6 else

7 | largest = 1;

8 end

9 if r < A.heap-size and Alr] > Allargest| then

10 | largest =r; ) U\
11 end )
12 if largest # i then i cars

13 | exchange A[i] with A[largest]; T(_h\ < T(Z/‘) + 6801
14 Max-Heapify(A,largest); w w3
15 end

Algorithm 11: Max-Heapify(A,i)
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2 for i = A.length downto 2 do i
exchange A[1] with A[i] Zo(\%) O (l
Max-Heapify(4,1); =0\ '\\

end \ N

Algorithm 12: Heapsort(A n. ‘G

1 Build-Max-Heap(A); — o(n)
A.heap-size = A. heap -size - 1;
Ty = Onden)
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